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1. (2043)

(1) Please explain the features of Oligopoly.

(2) Suppose “Eat” and “Food” are the two major companies in food delivery, and the two firms
set prices to maximize their profits. Each faces the same constant marginal cost of 5. The
demand function for “Eat” is qg = 20 - 3 ps + pr and for “Food” is gr = 20 - 3 pr + p, where pe
is Firm Eat’s price and pr is Firm Food's price. What are the Nash-Bertrand equilibrium prices,
quantities and profits?

2. (2043)

(1) Please draw an Edgeworth Box diagram to explain the concept of Pareto Improvement and
Pareto Efficiency.

(2) Does Pareto Efficiency ensure equality? Why-or why not?

(3) What economic policies can reduce inequality?
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